	[image: Afbeeldingsresultaat voor vlag TSJECHIE]
	[image: Afbeeldingsresultaat voor vlag TSJECHIE]
	[image: Afbeeldingsresultaat voor vlag TSJECHIE]

	· How many counties are in the Czech Republic?
A.  14

B.  3

C. 7

D. 10
	· In which town the Skoda car is produced?
A.  Mladá Boleslav

B.  Kolín

C. Plzeň

D. Kopřivnice

	· Which is the highest mountain?
A.  Sněžka

B. Praděd

C.  Radhošť

D. Říp
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	· Which colour is not in the Czech flag?
A.  Yellow

B. Blue

C. Red

D. White
	· What is the capital of the Czech Republic?
A.  Prague

B. Ostrava

C. Brno

D. Bratislava
	· Who is Jaromír Jágr?

A.  Ice-hockey player

B.  Tennis player

C.  Football player

D.  Athlet
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	· Who was the first president of the Czechoslovak State in 1918?
A.  Václav Havel

B. T. G. Masaryk

C. Miloš Zeman 

D. Václav Klaus
	· Who was the first president of the Czech Republic in 1993?
A. Václav Havel

B. T. G. Masaryk

C. Miloš Zeman 

D. Václav Klaus

	· Who was the first Czech president elected directly by citizens in 2013?
A.  Václav Havel

B. T. G. Masaryk

C. Miloš Zeman 

D. Václav Klaus
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	· What is the second largest city in the Czech Republic?
A.  Prague

B.  Brno

C.  Olomouc

D. Ostrava
	· Which river is the longest in Czech territory?
A.  Odra

B. Labe

C. Vltava

D. Morava
	· Which is the official language?
A.  English

B. Slovak

C. German

D. Czech
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	· Which country does not share borders with the Czech Republic?
A.  Poland

B. Hungary

C. Austria

D. Germany
	· How many countries neighbour the Czech Republic?
A.  3

B.  4

C.  5

D.  6
	· Who of these Czech composers lived near Ostrava?
A.  Antonín Dvořák

B. Leoš Janáček 

C. Bedřich Smetana

D. Jaroslav Ježek
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	· What are the first words of the Czech Anthem?
A.  A to je ta Česká země

B.  Kde domov můj

C. Bory šumí po skalinách

D. Voda hučí po lučinách

	· When was the Czech Republic established?
A.  28. 10. 1918

B. 1. 1. 1993

C. 8. 8. 1945

D. 17. 11. 1989
	· Who was the last president of the Czechoslovak socialist republic but the first one who was not a communist?

A.  Gustáv Husák
B.  Václav Havel
C. Klement Gotwald
D. Ludvík Svoboda
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	· The Czech Republic consists of three parts. Which part is not in Czechia?
A.  Bohemia

B. Moravia

C. Slovakia

D. Silesia
	· Is the Czech Republic member of NATO?

A. No, and never was.
B. Not anymore.
C. Yes, it is.
D. Not yet, but joining was already approved by the other members.
	· Which is the third largest city in the Czech Republic?
A.  Prague

B.  Brno

C. Ostrava

D. Krakow
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	· Mr. Baťa was born in Czechoslovakia and he became a famous businessman. Which products were made in his factories?
A. Bier
B. Cars
C. Shoes
D. Computers
	· What is the name of the most popular historic bridge Prague? It is decorated by baroque statues?
A. St. Wenceslas Bridge
B. St. Brigitte Bridge
C. Charles Bridge
D. Prague Bridge
	· Who was the most popular Czech king who became also Holy Roman Emperor and lived in 14th century?
A. Wenceslas V. 
B.  George II.
C. Charles IV.
D. Rudolf II.
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	· How many letters has the shortest name of a Czech town?

A.  5
B.  4
C. 3
D. 2
	· When was the Czechoslovak State established after being for three centuries part of the Austrian empire?
A. 1993
B. 1989
C. 1948
D. 1918
	· Which body part of the animal in the Little Czech State Emblem is drawn twice?

A. A head 
B. A leg
C. An eye
D. A tail
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	· What is the name of the Czech currency?

A.  Euro
B.  Kuna
C.  Leva
D.  Crown
	· Which raw material is mined in the Ostrava´s surrounding?

A. Oil
B. Gold
C. Brown coal
D. Black coal
	· Which two animals are in the large Czech State Emblem?

A. A lion and a horse
B. An eagle and a fish
C. A dragon and a horse
D. A lion and a lion
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	· What is on the head of the animals which are in the Czech State Emblem?

A. A crown
B. A helmet
C. A star
D. A horn
	· Which animal is in the little Czech State emblem?

A.  An eagle
B.  A lion
C. A horse
D. A dragon
	· What is the area of the Czech Republic?
 
A. About 60 000 km2

B. About 70 000 km2

C. About 80 000 km2

D. About 90 000 km2
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	· Which river springs in the Czech Republic?
A. Danube

B. Rhin

C. Loire

D. Elbe
	· Which mountain range is not in the Czech Republic?

A. Alps
B. Beskydy 
C. Krkonoše
D. Krušné hory 
	· Which Czech river flows through to Baltic Sea?
A. Elbe

B. Oder

C. Morava

D. Vltava

	[image: Afbeeldingsresultaat voor vlag TSJECHIE]
	[image: Afbeeldingsresultaat voor vlag TSJECHIE]
	[image: Afbeeldingsresultaat voor vlag TSJECHIE]

	· What is the Czech national tree?

A. A maple
B. A pine
C. A linden
D. A spruce
	· Which animal does not live in the Czech Republic?
A. A bear
B. A lynx
C. A wolf
D. Cheetah
	· How many people live in the Czech Republic?
A.  About 8 million 

B. About 10 million

C. About12 million

D. About 14 million
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	· Which Czech river flows through Germany to the North Sea?

A. Elbe
B. Oder
C. Morava
D. Vltava

	· Which Czech word became international?
A. Computer

B. Robot

C. Radio

D. Metro
	· Who was the first Czech astronaut?
A.  Jurij Gagarin

B. Valentina Těreškovová

C. Vladimír Remek

D. German Titov
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